

17225 130TH AVE N, JUPITER, FL, 33478

https://ritterproperties.com

Luxury meets tranquility in this stunning 5-bedroom CBS pool home in Jupiter Farms, set on nearly 5 private acres with a gated entry and lush, mature landscaping. Fully remodeled in 2020, this turnkey estate boasts a 2022 saltwater pool, a whole-home generator, and impact windows, offering the perfect blend of modern upgrades and timeless elegance. [...]

- 5 bods
- 4 haths
- Residentia
- Single Family Residence
- Active Under Contract
- 4884 sq ft

Basics



Date added: Added 4 days ago

Type: Residential

Bedrooms: 5 beds

Half baths: 0 half baths

Area: 4884 sq ft

SubdivisionName: Jupiter Farms

GarageSpaces: 2

ListAOR: Miami Association of REALTORS®

Category: Single Family Residence

Status: Active Under Contract

Bathrooms: 4 baths

Total rooms: 11

Lot size, sq ft: 204296 sq ft

ListOfficeName: Real Broker LLC

View: Pool

MLS ID: A11757060

Rooms



Room type	Dimensions	Area	Length	Width
FifthBedroom	12.5 x 19.8	247.5	12.5	19.8
PrimaryBedroom	16 x 23	368	16	23
FourthBedroom	9.5 x 25	237.5	9.5	25
ThirdBedroom	12.1 × 11.5	139.15	12.1	11.5
Den	11 x 11	121	11	11
UtilityRoom	8 x 12	96	8	12
Other Room	5.6 x 11.5	64.399999	5.6	11.5
Den	13.1 x 24.8	324.88	13.1	24.8
DiningRoom	14 x 16	224	14	16
FamilyRoom	42 x 19	798	42	19
SecondBedroom	9.2 x 11.5	105.8	9.2	11.5

Building Details



Cooling features: Central Air, Electric

ArchitecturalStyle: Detached, One Story

Building Name: Jupiter Farms

Roof: Metal Roof

Parking: Driveway

Year built: 2006

NewConstructionYN: No

Exterior material: CBS Construction

Heating: Central, Electric

Amenities & Features

Features: Bar, Den/Library/Office, Entrance Foyer, Family Room, French Doors, Split Bedroom, Utility Room/Laundry, Volume Ceilings, Walk-In Closet(s),

Workshop

CommunityFeatures: None

ExteriorFeatures: Built-In Grill, Lighting, Outdoor

Shower

Waterfront available: No

AttachedGarageYN: No

PoolPrivateYN: No

Amenities: Dishwasher, Dryer, Electric Range, Electric Water Heater, Microwave,

Refrigerator, Washer

WindowFeatures: Complete Impact

Glass, Impact Glass

PoolFeatures: Screen Enclosure

GarageYN: Yes

CoolingYN: Yes

FireplaceYN: No

